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This question contains 30 very short answer type sub-questions. Answer
each question ideally in 10 words/one line. Al questions are compulsory. .
Each question carries 03 (Three) marks.

: (L1) 0.6 cm TOTRHH WY U 0T g H I Y I R 3R T8 300 ms!
T YA DA R | T T8 FoT (A T A | 7
* A wave of wavelength 0.6 ¢m is produced in air and it travels
at a speed of 300 ms™. Will it be audible ?

1.2) .a{ﬁmmaﬁﬁﬁmﬁaﬁl

Define Curie temperature.
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Why steel is used for making permanent magnets ?

ARG S RS 7
What 1s a Chemical Bond ?

fororen =t w1 yrerife g3 ferfe |

Write chemical formula of bleaching powder.

G- (ATSTE) F1R ?

What is Galvanisation ?

IRt =1 ufenfda Hifsg |
Define the cell.

W o T e W18 7

" What are main components of food ?

et (1) i s i 35 v wE EE 7

What are the main functions of root hair in plants ? -
R a1 -t it o s fRar e & 2

What is done in phishing or e-mail spoofing ?

T -l TR T AT Y R R R 7
What is the usual format of e-mail address ?

Android, Fedora, Windows oS fras I € 7
Android, Fedora, Windows and iOS are names of what ?

THieT x = 2y i ax + by + ¢ = 0 % 9 8 faRad st a, bae ¢
1 HH i i -

Write the equation x = 2y in the form ax.+ by + ¢ = 0, and find
out the values of a, b and c.

7Af5 1 35 BT L |
Multiply 7\]3 by 3‘\/3 .

ot S e RE TR SR F G R 7 .

. What is the formula to find the class-mark of a class interval ?
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AT (Yoga) ! i ford |
Explain definition of Yoga.

forva e we (W.H.0.) R gt fewnft forg |

Write short note on World Health Organization.

VI T ST Foram 3 fepr ot Ferforca wgferat <1 womaiier
e ¢

Government of India has included which Traditional systems

- of health care in the Ministry of Ayush ?-

T SreNfihY e el wiia ® 7 frw S #1 T 3w g
LY

Where is the Centre for Advanced Technology located ? Who
is the Scientist associated with this ?

AT peeTeg, 14 1 Ged dieH 1R 7
What is the main contribution of Scientist Prafullachandra
Roy ?

a3 fulte dfem o wef e wresy gor ¢

When Remote sensing work started in India ?

1726 B THIeH % IANTEN, WA H a6 ¢ S FHEH

 JeqSiH T T WIS UM ?

As per the COP-26 conference, when India will achieve ‘Net
Zero’ carbon emission target ?

“TERD 1 fRqa §4 & -
Full form of “TERT’ is

“HAT-3u+ Y FBATE 7
What is ‘Bio-fuel cell’ ?

gytereT Hfererar st aftsfya iR |

Define the environmental ethics.
A TeReT | i & i AW sy |
Give the three names of Environmental Act.
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Describe the major environmental issues,

s =t afefa =62 |
Define Geology.

gt il Sifereman STy AR 7
What is the maximum age of the Earth ?

Yeehich SaTeH F1 2 7
What is Index Fossil ?

T W T 20 T IT-53 § | Tl T % IR g TS Weg HiAr 50 Vg
/5% 6 ufwmat grft | aeft wem I € | el W 05 (4iE) IRl ET R | (20x05=100)

This question contains 20 short answer type sub-questions. Answer each
question ideally in 50 words/5 to 6 lines. All questions are compulsory.
Each question carries 5 (Five) marks.

2.1)

Q2)

(2.3)

(24)

(2.5)

(2.6)

Teh HIEX W3Rl T T §eaHH, Hit |isfehe & g 90 fopmr
B | et et & gfig =t Torn B Al e 6.0 Fop. Y. /e & weE
12 fp At A S S R

The mass of motor cyclist together with the motorcycle is 90
kg. Calculate the increase in Kinetic energy if the speed
increases from 6.0 km/h to 12 km/h.

FEAT AR & o aF F M E 7

What are the three modes of heat transfer ?

Torsror & v o i avar forfa |

Write three differences between mixtures and compounds.

wfsraar Ao T ¢ 7 WHST |
What is Activity Series ? Explain.

YEEH 1 g ? S W e SRS 7
What is respiration ? What are the main respiratory organs in
organisms ?

T % 97 o Eitre feoroft ferfaw |

Write a short note on testes of mammals.
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SR F L R T9eqe Reamsy & 71 B B § 7 IAE
TR o fEarsd & -5 Ierewer ferfgw |

-What is the function of inpuf and output devices of

computer ? Give two examples of each of the devices.

“fesft e I e Y AT Bl T A S 7

. What are the benefits to citizens using “Digilocker” ? -

v ¥ o 1 37, v ) T 5 A 5 6 R )
vam % et i arg 47 4 2 | I At g W AR |

Shyam’s father’s age is 5 years more than three times Shyam’s

- age. Shyam’s father is 47 years old. Find Shyam’s age.

3 faeed diar sk Mo ePm i ead § 1T 2
6 dian gra 2= Sfaw & sl 0,59 ® | far % 89 e
CRIBID T

- Two players, Sita and Geeta, play a Table-tennis match. It is

known that the probability of Sita winning the match is 0.59.
What is the probability of Geeta winning the match ?

I TEHR 5 ST T HIshA Y Tk s %t |

Write short note on Ayushman Bharat Programme of
government of India.

I % “TRER e sedswd i dfira same i |
Explain “Family Planning” programme of India, -

T HTR ? T o e |
What is cloning ? Explain briefly.

- fom 3 o W i oty i |

Describe in brief the Geo-stationary satellite.

Wéﬁﬁitﬁ@mww%? '

What are the main reasons behind energy crisis ?

mw.édaﬁm%wmﬁnﬁﬁwﬁamﬁ
TS HHE FTE 7

What are the factors affecting the nature of the ‘wind while
establishing the wind energy plant ?
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2.17) ot Tefidt i YT T B TN ARpfaw MRS 7 &5

I]EW G | .
Describe the concept of energy sub51dy and give example of
Natural Ecosystem.

mﬁﬁm<mﬁﬁﬁﬁa$ﬁﬁﬁﬁﬁwﬁ 1
Describe the traditional water pollution control policy.

IS FEATOT TR ?

What is Cataclastic metamorphism ?

Aefta STt TR HRT |

Describe oil traps.

39 W 3 10 €6 3909 I7-397 § | WS TR % TR B ey Wse € 200
Vg 3 | Wt e S € | e S 11 (|E) AR | (10x11=110)

This question contains 10 long answer type sub-questions. Answer each
question 1deally in 200 words. All questions are compulsory. Each
question carries 11 (Eleven) marks.

3.1y

(3.2)

(3.3)

(3.4)

(3.5)

wrdt = forear @ wfomfia & |

Define in detail about entropy.
pH TheT ! forar & augmsy |

Explain pH scale in detail.

YRRTEs AR i gT=, w%'s'rqﬁwaa’rﬁﬂﬁw&wmrh
HifvT |

Describe the structure of thyroid gland, its hormone and related
disorders.

Wﬁww(ﬁéﬁaﬁzﬁ)aﬁmé ? e
ez ¥ argaTes! % Rtm TR F € 2

" Why language translators are required in computers ? What are

the different types of translators in computing systems ?
QA 37! dTell Th 9T % ST HEl § 3 T AW 8, 39 d&
TH 37! ! FETH T TEAT i e W 143 A BT R | T

&1 a9 gt 7

The digits of a two digit number differ by 3, if the digits are
interchanged and the resuiting number is added to the original
number, we get 143. What can be the original number ?
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T (3.6) TR ST SR I AT SR | |
’ Explain National Immunization Schedule in table (chart) form.

T (7))  Sa-weifEh e e % &7 § ST sy |
Describe the uses of Biotechnology in the héalth sector.

WA (3.8) HeANey A Sl ff-2022" Y aReed o sevd fafag |
Write the hypothesis and objectives of “Madhya Pradesh
Renewable Energy Policy-2022",

YW (3.9) URd % Ge o yaterviiy R wd st srismnT ol R € |
Describe the environmental education and awareness
programmes in India.

Y (3.10) TR ATHTE Graal @ wn @ qui Hif |

Describe Primary Sedimentary structures in detail.
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